Ratio

(0 @) (rad)

SICEWATL

o p/p.)

=
<

1072

1073

o
T

]lHHﬂH HMW -------

107 1

2 3
TPlpoT (PCA t%obeamliné[f)

,_.
S
L

a(d cot(d))

1072wy oo e oo

T T TTTTIT
L]

LR
]

—=— DQM_mkFit_TT_base
—— DQM_mkFit_TT_retrain

o _—
102 "*._' ................... I
—3__"';"*1* ........
10 E T
10“5- *' ol ' S
il
0.95:
107

2 3
TPlp?T (PCA t%obeamliné'p

10%]

B

0.95

H
i
= I
—

——

—

= i}

—— [

—+— [
=+
+|

—

)i

1

.........

...................................................

z

oo a,) (cm)

T

|

[y

i

-1 2 3
10 ! TPlp?T (PCA tjbobeamliné'f)

L
-
+ 2

TH 2O A




	Contents
	Page 1


